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POWER SYSTEM-II

Fruffea oma - 9 w2 [Aftremaw 31 : 70
Time allowed : Three Hours] [Maximum Marks : 70

A: () FYTFE AAEE 8 998 G Rt wia & IR AT |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii)  FIF F¥7 & T 9T ) FHAR 0 Gre & B |

~ Solve all parts of a question consecutively together.
(iii) 3% F¥ B 79 98 @ IRET Hiford |

Start each question on fresh page.
(iv) G 9191371 § 377 817 B 1R F 3781 Spgae &1 7T 8 |

Only English version is valid in case of difference in both the languages.

1. () i = = aieafa fifvm |
Define Power System.
(i) =T o | e AR % 39T fafew |
Write uses of line sﬁpports in transmission system.
(iii) 3T 9 T ! o < wgraT @ wwEmsT |

Explain sag and span with the help of diagram.

(iv) Toraor a3 6t genyg smavaesand fafew |

Write basic requirements of a distribution system.

(v) TRl @ 6 goran § yftera Hfeer @ H fdrwand fafaw |

Write advantages of underground cable system as compared to overhead system. (2x5)
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ez a2 v veft @ Ry g & ar vgfy Hit g dfR F I F AR W
ST | : ’
Compare D.C. 2-wire and D.C. 3-wire system’on the basis of copper volume.

T ey uT ) A a7 Hiet 250 AT W U P W T @ @ | i aws

Seear F 200 V & fn 9@ @ aaE WR W e gere # gfowa s=d 6 ToHT
Hifo |
In a D.C. 2-wire system a feeder is working on 250 V supplying a constant load.

If supply voltage is made 200 V then calculate percentage saving in conductor
material for same load. - (6+6)

ATg FeTereh! <hl farheran o fehedl = v ! awgsy |

Explain any four reasons for failure of line insulators.

s 33 5., R g w3 i i areft et 6 @S @ | 3 P
i 7 % "o aTiar a1 S Feerh S W-IRar F1 3P 0.2 R @
Hifm :

In a 33 kV overhead transmission line, there are 3 units in the string of insulators.

If the ratio of capacitance between each insulator pin & earth and self-
capacitance of each insulator is 0.2.

Calculate :
(a) o FETerH! W e fererT
Voltage distribution over three insulators
(b) WS g
String efficiency . (6+6)

e G e ¥ T-G0% A A, B, C, D WT=et 1 TORT I |

Calculate A, B, C, D parameter of a medium transmission line using T-method.

o BRI w15 % T € wHae W 3 @i % i gl 300 Hex # 17l st
whireer 5000 fp.m. Wi ant Sft. R, ST 1 FTES FIE {ABA 1 T QY. , TTeTH
1 9 0,65 Fb.7m iy Hiex, oy 1 gama 1 .. wfe dfiey, @b s 0.35 6., wfa
et & G T 2.666 & A e % HH ot 0T HIFT |

A overhead line has a span of 300 m supported at same level. If breaking stress
5000 kg/cm2, conductor cross-section area 1 c¢n?, weight of conductor 0.65
kg/m, wind pressure 1 kg/m, ice loading 0.35 kgrm and factor of safety is 2.666
then calculate value of sag. (6+6)
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s i ) v @ diey, foaws 9 wfda A= ) e |
Explain feeder, distributor and service mains with the help of a neat diagram.
B8 M hisred h! TT=A1 ! Wes o ) ggmar @ ansms |
Explain construction of High Tension Cable with the help of neat diagram.  (6+6)

wftrra et frem i fedt s faft w1 aofr Hifdig |

Describe any one method of laying underground cable.
w3 ar fe.an. faas AB, 500 Hiet wtvan &, St Frengam i@ 2
AR (frex ) 100 250 400
R (Teftr ) 50 100 50

Wiwss fag A W dieear 400 diee AT B W Aeear 430 A } | ARG A H A
wferdier 0.02 3t wfar 100 Hiex @ @t A Rt R fergga e Y o <hifdre |

A two wire DC distributor AB, 500 metre long is loaded as follows :
Distance from A (in metre) | 100 | 250 | 400
Load (in Ampere) 50 | 100 | 50

The feeding point A is maintained at 400 V and that of B at 430 V. If conductor
has a total resistance of 0.02 ohm per 100 metre then calculate current at the
end A. - - (6+6)

Jeared! T ferates # dieedr gt 6 1o fohe Wehr hl STt B, aWEsY |
Explain how voltage drop calcylation is carried out in AC distributor.

e e 7 A @ B @ forar ST @ 7 e o < v @ wwEse |

How poles are erected by Derrick Pole method. Explain with the help of neat
diagram.

(6+6)

ﬁnmm&mﬁﬁfiﬂm

Write short note on the following :

®

(i)

I Aieedl ARl S Ha
Survey of HT lines
THod) uwE

Ferranti effect (6x2)







